H £ 0l & AF & S

Al A

SN SHSHUD
33 23S A Jxlgd
ols Es HEd fX2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sdsggn 16,942,293 16,492,160 1,450,133
= 875,000
[ 130,000
Il 490,000
< 4,460,000
= 9,987,293
CH 1,000,000
SH3 atEH Oy 3,358,353 1,734,100 1,624,253
= 875,000
= 2,483,353
e MHEd A2 3,358,353 1,734,100 1,624,253
= 875,000
Ea 2,483,353
=33 22 & 243t 200,000 200,000
201 er2 3| 200,000 200,000
01 AtR2te|HI 200,000 200,000
O=8s 08 g2 200,000
=35 =diE =7A2L 412,000 122,300 289,700
101 e124d| 107,000 39,300 67,700
M ORNZZ2NSE S 107,000 39,300 67,700
O=3s =diz2 sXZel(d=x, M=x) 50,000
O=d= =dz 2g2cd 22y 57,000
201 et23| 5,000 3,000 2,000
01 At22te|Hl 5,000 3,000 2,000
O=d=z =dZ 82 c=8 NH 5,000
401 AlZHIZ SO 300,000 80,000 220,000
01 A28l 300,000 80,000 220,000
O=3dz =diZ AMe 2+ 300,000
=55 =25 =dlZ2 ZEAME 1,350,000 1,000,000 350,000
= 875,000
= 475,000
401 Al HIZL 201 1,350,000 1,000,000 350,000
= 875,000
o 475,000
01 Al&H| 1,350,000 1,000,000 350,000
O=8ds 223t =dlZ =dMY 1,350,000
= 875,000
o 475,000
S0E 282 995,401 247,500 747,901
101 e124d| 311,621 40,000 271,621
M ORNZZ2NSE S 311,621 40,000 271,621
OlEA 29g 2el 2AH| 60,936
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SN SHSHYD
N 2x5 MEZE I 75
R MdEH2HE IR Y EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,580,000
401 AIEHIX 20 6,330,000 8,880,000 22,550,000
=S 3,750,000
s 2,580,000
01 AlZ8| 6,310,000 8,870,000 22,560,000
OB HOAIE ZHAMS 1,920,000
OHNM2I| 88 HIZFXNS ZEAS 4,390,000
== 3,750,000
= 640,000
03 A2 THYI 20,000 10,000 10,000
ON2Il 88 H2RXNZ ZEAY =& 10,000
QBN &MY SR 10,000
S H2FRXNG Y X HHEZ ZEME 2,120,000 4,070,000 1,950,000
= 130,000
T 1,990,000
401 Al HIZL 201 2,120,000 4,070,000 A1,950,000
= 130,000
= 1,990,000
01 Al&H| 2,110,000 4,060,000 1,950,000
OMZZ HRRNY JY Y AHE2 X4
A (2HIF=0HE) 1,651,000
O88Z H2RXNZG Y X HAHEZ X4
At 459,000
= 130,000
Ea 329,000
03 Al 2CHYI 10,000 10,000 0
OFY A HAETZE ZHAY LRFT 10,000
S 2 N2 A 568,000 302,000 256,000
= 110,000
o 448,000
201 fer=2 3| 3,000 2,000 1,000
01 At 2|l 3,000 2,000 1,000
OdEHEIHEE FF=E S| 3,000
401 A2 HIZL 201 565,000 300,000 255,000
< 110,000
s 445,000
01 Al&H| 565,000 300,000 255,000
O=d=F8 WIFIZXIAE 150,000
O=sdagda=LgAg 110,000
= 110,000
OgAel =xtd 22 2483 A 95,000
OS85 N=g &2 gotitd H12ES 100,000
O=83 =1 BHEd H789 100,000
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10,000
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13,000
4,000
1,000

Ofl &F2H

100,000
100,000

200,000
200,000

H

100,000
100,000

200,000

rH

200,000

W

100,000
100,000
1,541,500

H

541,500
1,000,000
128,000
88,000
88,000
88,000
48,000
40,000
40,000

10,000
10,000
10,000
30,000
30,000
30,000

1,413,500

Mt

1,500
1,500

413,500
13,500

1,000,000

CH

1,500
12,000
12,000
12,000

1,400,000

- ESS

- SRA(E) - HIRAY

S - B

401 AIEHIYL 20

01 AlIZHI

JHIOH&
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b
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o

O=AS QAE+=SAt

01 AtR2telbl
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401 AlEHIZ 01

401 AIEHIZL R OHYI

A=

t
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& ATHAI Ol
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M
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18
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THXIAl
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H
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401 AIEHIZ 20
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1,400,000
1,400,000

400,000
1,000,000
1,400,000

400,000

CH
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SN SHSYD
M HEYY FWEY ZHIHA
el SAUB-FHEXGHE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH 1,000,000
01 AlZ2H| 1,400,000 0 1,400,000
O &2 Sl &4 1,400,000
= 400,000
CH 1,000,000
dY2IZH(SZ=2E!) 34,440 35,460 A1,020
Jl=3H| 34,440 35,460 1,020
Sdsgdl V=3l 34,440 35,460 21,020
201 eer23| 14,040 14,040 0
01 AtR2t2lHI 14,040 14,040 0
Os A&t 11,240
O=gHl SA40i&t 2,800
202 04| 16,200 17,820 1,620
01 SLHoIH 16,200 17,820 1,620
OS A0t 16,200
203 HE=H] 4,200 3,600 600
M RFAZHLRFEI 4,200 3,600 600
O=sdzgdilt FA2Y 4,200
=35 o9 d2xd 2,800,000 100,000 2,700,000
Jl 490,000
=S 500,000
s 1,810,000
SISHS MENE 2E 2,800,000 100,000 2,700,000
Jl 490,000
= 500,000
Ea 1,810,000
S3S FEMLSZE ZLEAY 1,800,000 0 1,800,000
Jl 490,000
s 1,310,000
401 Al HIZ R 0HbI 1,800,000 0 1,800,000
Jl 490,000
[Ea 1,310,000
01 Al&H| 1,795,000 0 1,795,000
285 RHUMLI=Z ZEAY 1,795,000
Jl 488,648
= 1,306,352
03 A2 2 0HYI 5,000 0 5,000
O=sds RFHMUsZE =8 5,000
) 1,352
o 3,648
S0E MHHSH SSAS(HEAY) 1,000,000 0 1,000,000
< 500,000
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SN SHSHUD
B SHS Ao ABEK
el SFSHA MEIE 28 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 500,000
401 AIEHIX 20 1,000,000 0 1,000,000
=S 500,000
s 500,000
01 AlZ8| 1,000,000 0 1,000,000
OS0ld dEHS3 22Ar 1,000,000
< 500,000
Ea 500,000
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